Ethernet : RGMII to Copper
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PHY Address : 0000
RX_DO = MODEO
RX D1 = MODEO
Auto-negotiation, 1000/100/10 advertised, Auto MDI-X
LED [2:0] = 000 [Mode 0]
Functional mode: RGMII to Copper
RX_D2, RX_D3 & JTAG_TDO (2:0) = 000
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a0132383
Sticky Note
Place a cap between shield and board ground. Adding 1 1M resistor in parallel would b a good idea. Refer below
https://www.ti.com/lit/df/snlr042/snlr042.pdf
Pin 1 please ground through a 0R. During testing you might have to add a 0.1uF cap based on the performance.
The magnetics used has center tap shorted. We recommend magnetics without the center tap shorted.

a0132383
Sticky Note
bring out test points if space is available 

a0132383
Sticky Note
Be sure to place terminations for TX signals near to the MAC


Ethernet : RGMII to SGMII
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STRAP OPTIONS
PHY Address : 0001
RX_DO0 = MODE1l

RX D1 MODEO
Auto-negotiation,
LED [2:0] = 000 [Mode 0]

1000/100/10 advertised, Auto MDI-X

SGMII to RGMII
011

Functional mode:
RX D2, RX D3 & JTAG_TDO (2:0) =



a0132383
Sticky Note
Be sure to place terminations for TX signals near to the MAC




